
SP-V/ECO/501/DSE-1A-5.1.1/19

B.Sc. 5th Semester (Programme) Examination, 2019-20

ECONOMICS

Course ID : 51618 Course Code : SP/ECO/501/DSE-1A-5.1.1

Course Title: Microeconomics-II

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions : 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What are the functions of market?

ı±Ê±Àı˛ı˛ fl¬±˚«±ı˘œ fl¬œ fl¬œ∑

(b) Give an idea of a monopoly market.

¤fl¬À‰¬øÈ¬˚˛± ı±Ê±Àı˛ı˛ ¤fl¬øÈ¬ Ò±ı˛Ì± ±›/

(c) Explain the relationship among AR, MR and Price Elasticity of Demand.

·h¬ ’±˚˛, √õ∂±øôL√fl¬ ’±˚˛ ¤ı— ‰¬±ø˝±ı˛ ±˜ ø¶öøÓ¬¶ö±¬Ûfl¬Ó¬±ı˛ ¸•Ûfl«¬ √õ∂fl¬±˙ fl¬Àı˛±/

(d) What are ‘economic rent’ and quasi rent?

’Ô«ÕÚøÓ¬fl¬ ‡±ÊÚ± › ’Ò« ‡±ÊÚ± fl¬œ∑

(e) What is the distinction between firm and industry?

Ù¬±˜« › ø˙Àäı˛ ˜ÀÒ… ¬Û±Ô«fl¬…&ø˘ fl¬œ fl¬œ∑

(f) What is the long-run equilibrium condition of industry under perfect competition?

œ‚«fl¬±À˘ ¬Û”Ì« √õ∂øÓ¬À˚±ø·Ó¬±˜”˘fl¬ ı±Ê±Àı˛ ø˙Àäı˛ ˆ¬±ı˛¸±À˜…ı˛ ˙Ó«¬ fl¬œ∑

(g) What are the main functions of trade union?

|ø˜fl¬ ¸—À‚ı˛ √õ∂Ò±Ú fl¬±˚«&ø˘ fl¬œ fl¬œ∑

(h) What do you mean by normal profit of a firm?

Œfl¬±ÀÚ± Ù¬±À˜«ı˛ ¶§±ˆ¬±øıfl¬ ˜≈Ú±Ù¬± ı˘ÀÓ¬ Ó≈¬ø˜ fl¬œ Œı±ÀÁ¬±∑
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2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Derive the short-term equilibrium conditions of the firm under perfect competition. Define
the concept of stability of equilibrium under this market. 4+1=5

¬Û”Ì«±º √õ∂øÓ¬À˚±ø·Ó¬±˜”˘fl¬ ı±Ê±Àı˛ ¤fl¬øÈ¬ Ù¬±À˜«ı˛ ¶§äfl¬±˘œÚ ˆ¬±ı˛¸±À˜…ı˛ ˙Ó«¬&ø˘ øÚÌ«˚˛ fl¬Àı˛±/ ¤˝◊ ı±Ê±Àı˛ı˛
ˆ¬±ı˛¸±À˜…ı˛ ¶ö±˚˛œÀQı˛ Ò±ı˛Ì±øÈ¬ı˛ ¸—:± ±›/

(b) What is monopoly market? State and explain the equilibrium conditions under monopoly.
1+4=5

¤fl¬À‰¬øÈ¬˚˛± ı±Ê±ı˛ fl¬œ∑ ¤fl¬À‰¬øÈ¬˚˛± ı±Ê±Àı˛ı˛ ˆ¬±ı˛¸±À˜…ı˛ ˙Ó«¬&ø˘ øıı‘Ó¬ fl¬Àı˛± › ı…±‡…± fl¬Àı˛±/

(c) What do you mean by Liquidity Preference? Explain the nature of Speculative demand
for money in Keynesian Liquidity Preference Theory. 1+4=5

Ó¬±ı˛À˘…ı˛ ¬ÛÂj ı˘ÀÓ¬ Ó≈¬ø˜ fl¬œ Œı±ÀÁ¬±∑ Œfl¬˝◊Úƒ¸œ˚˛ Ó¬±ı˛˘… ¬ÛÂÀjı˛ Ó¬ÀMW Ù¬±È¬fl¬± fl¬±ı˛ı±Àı˛ı˛ Î¬◊ÀVÀ˙… ’ÀÔ«ı˛
‰¬±ø˝±ı˛ √õ∂fl‘¬øÓ¬ ı…±‡…± fl¬Àı˛±/

(d) What is equilibrium point? State briefly the problem of existence and uniqueness of
equilibrium in a perfectly competitive market. 1+4=5

ˆ¬±ı˛¸±˜… øıj≈ fl¬œ∑ ¤fl¬øÈ¬ ¬Û”Ì«√õ∂øÓ¬À˚±ø·Ó¬±˜”˘fl¬ ı±Ê±Àı˛ ˆ¬±ı˛¸±À˜…ı˛ ’øô¶∏Q ¤ı— ’øZÓ¬œ˚˛Ó¬± (uniqueness)
¸˜¸…± øıı‘Ó¬ fl¬Àı˛±/

(e) What is rent? Briefly describe Ricardian Theory of Rent. 1+4=5

‡±ÊÚ± fl¬œ∑ øı˛fl¬±ÀÎ«¬ı˛ ‡±ÊÚ± Ó¬MWøÈ¬ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(f) What is Profit? Discuss the elements of profit of an entrepreneur in production. 1+4=5

≈̃Ú±Ù¬± fl¬œ∑ Î¬◊»¬Û±Ú Œé¬ÀS Î¬◊À…±Mê±ı˛ ≈̃Ú±Ù¬±ı˛ Î¬◊¬Û±±Ú&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is money wage rate? Explain with the help of a diagram how wage is determined
in the perfect competetive market. 2+8=10

’±øÔ«fl¬ ˜Ê≈øı˛ fl¬œ∑ Œ˘‡ø‰¬ÀSı˛ ¸±˝±À˚…, ¬Û”Ì« √õ∂øÓ¬À˚±ø·Ó¬±˜”˘fl¬ ı±Ê±Àı˛ fl¬œˆ¬±Àı ˜Ê≈øı˛ øÚÒ«±øı˛Ó¬ ˝˚˛ Ó¬±
ı…±‡…± fl¬Àı˛±/

(b) What is Marginal Revenue Product (MRP)? Explain marginal productivity theory of
distribution. 2+8=10

√õ∂±øôL√fl¬ ’±˚˛ Î¬◊»¬Û±Ú fl¬œ∑ ı∞I◊ÀÚı˛ √õ∂±øôL√fl¬ Î¬◊»¬Û±Ú˙œ˘Ó¬±ı˛ Ó¬MWøÈ¬ ı…±‡…± fl¬Àı˛±/

ñññññ



B.Sc. 5th Semester (Programme) Examination, 2019-20

ECONOMICS

Course ID : 51618 Course Code : SP/ECO/501/DSE-1A-5.1.2

Course Title: Money and Banking

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions : 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What do you mean by ‘Limited legal tender’?

¸¸œ˜ ’±˝◊Ú ø¸X¬ ’Ô« ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±¬∑

(b) Distinguish between ‘Primary Securities’ and ‘Secondary Securities’.

√‘Primary Securities’ › ‘Secondary Securities’-¤ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬Àı˛±/

(c) How is Bank Rate used as a method of credit control?

ŸÌ øÚ˚˛LaÌ ¬ÛX¬øÓ¬ ø˝À¸Àı Bank Rate-Œfl¬ fl¬œˆ¬±Àı ı…ı˝±ı˛ fl¬ı˛± ˝˚˛∑

(d) What do you mean by ‘Treasury Bill’?

Treasury Bill ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(e) What is the meaning of term ‘Underwriting of shares’?

‘Underwriting of shares’ fl¬Ô±øÈ¬ı˛ ’Ô« fl¬œ∑

(f) Write the full form of

√¬Û≈Àı˛± ı˛+¬ÛøÈ¬ Œ˘À‡±

(i) NABARD

(ii) SIDBI
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(g) Write the expression of Money Multiplier.

¬’±øÔ«fl¬ &ÌÀfl¬ı˛ ’±øÇ¬fl¬ √õ∂fl¬±˙øÈ¬ Œ˘À‡±/

(h) State the ‘Risk Premium Theory’ of term structure of interest rates.

¸≈Àı˛ ˝±Àı˛ı˛ Œ˜˚˛±ø ·Í¬ÀÚı˛ Risk Premium Ó¬MWøÈ¬ Œ˘À‡±/

2. Answer any four of the following questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Briefly discuss all the functions of Money.

’ÀÔ«ı˛ fl¬±Ê&ø˘ı˛ ¸—øé¬l øııı˛Ì ±›/

(b) Briefly explain the role of Money Market in Economic Development.

’Ô«ÕÚøÓ¬fl¬ Î¬◊iß˚˛ÀÚ Money Market-¤ı˛ ˆ”¬ø˜fl¬± ¸—Àé¬À¬Û ı…±‡…± fl¬Àı˛±/

(c) Write a short note on ‘Stock Exchange’ in India.

ˆ¬±ı˛ÀÓ¬ı˛ Stock Exchange-¤ı˛ ›¬Ûı˛ ¤fl¬øÈ¬ È¬œfl¬± Œ˘À‡±/

(d) How does the Central Bank control NBFIs?

Œfl¬fœ˚˛ ı…±Ç¬ fl¬œˆ¬±Àı NBFI&ø˘Àfl¬ øÚ ˛̊LaÌ fl¬Àı˛∑

(e) Make the difference among Bonds, Shares and Debentures.

ı`¬, Œ˙˚˛±ı˛ › ŸÌ¬ÛS — ¤Àı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬Àı˛±/

(f) Briefly explain about LICI and GICI.

LICI › GICI ¸•ÛÀfl«¬ ¸—øé¬l øııı˛Ì ±›/

3. Answer any one of the following questions: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) (i) Define M2.

M2-ı˛ ¸—:± ±›/

(ii) Explain all functions of Central Bank. 2+8=10

Œfl¬fœ˚˛ ı…±ÀÇ¬ı˛ fl¬±Ê&ø˘ ı…±‡…± fl¬Àı˛±/
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(b) (i) Make a distinction between Money Market and Capital Market.

Money Market › Capital Market-¤ı˛ ˜ÀÒ… ¬Û±Ô«fl¬…&ø˘ Î¬◊À{°‡ fl¬Àı˛±/

(ii) What is Call Money Market? Write its features in the context of India. 5+1+4=10

Call Money Market fl¬±Àfl¬ ıÀ˘∑ ˆ¬±ı˛ÀÓ¬ı˛ ¬Ûøı˛À√õ∂øé¬ÀÓ¬ Call Money Market-¤ı˛ Δıø˙©Ü…&ø˘
Î¬◊À{°‡ fl¬Àı˛±/
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B.Sc. 5th Semester (Programme) Examination, 2019-20

ECONOMICS

Course ID : 51618 Course Code : SP/ECO/501/DSE-1A-5.1.3

Course Title: Environmental Economics

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions : 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Define Sustainable Development.

Sustainable Development-¤ı˛ ¸—:± ±›/

(b) Name one renewable and one non-renewable resource.

¤fl¬øÈ¬ ¬Û≈ÚÚ«ıœfl¬ı˛ÌÀ˚±·… › ¤fl¬øÈ¬ ’¬Û≈ÚÚ«ıœfl¬ı˛ÌÀ˚±·… ¸•ÛÀı˛ Î¬◊±˝ı˛Ì ±›/

(c) What do you mean by Problem of Free Rider?

Problem of Free Rider ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(d) What is WTP?

WTP fl¬œ∑

(e) What do you mean by Negative Externalities?

ŸÌ±Rfl¬ ı±ø˝…fl¬Ó¬± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(f) Mention two protocols that aim at preventing climate change.

Climate change √õ∂øÓ¬Àı˛±ÀÒı˛ ÊÚ… ≈øÈ¬ protocol-¤ı˛ Î¬◊À{°‡ fl¬Àı˛±/

(g) Which resources are termed as ‘Common Property Resources’?

Œfl¬±Ú ¸•Û&ø˘Àfl¬ Common Property Resources ı˘± ˝ ˛̊∑

(h) What is ‘Exclusion Principle’ of Social goods?

Social goods-¤ı˛ Exclusion Principle ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑
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2. Answer any four of the following questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is Coase Theorem? Explain it.

Coase Theorem fl¬œ∑ ı…±‡…± fl¬Àı˛±/

(b) How do externalities make pricing of public goods problematic?

ı±ø˝…fl¬Ó¬± fl¬œˆ¬±Àı ·Ì^Àı…ı˛ ±˜ øÚÒ«±ı˛ÀÌ ’¸≈øıÒ± ΔÓ¬øı˛ fl¬Àı˛∑

(c) Write the features of Public Goods.

Public Goods-¤ı˛ Δıø˙©Ü…&ø˘ Œ˘À‡±/

(d) How does Rainforest destruction affect environment?

ı‘ø©ÜıÚ±=¡˘ ÒT—À¸ı˛ Ù¬À˘ ¬Ûøı˛ÀıÀ˙ı˛ ›¬Ûı˛ fl¬œ √õ∂ˆ¬±ı ¬ÛÀı˛∑

(e) What is WTA? Explain how WTA can be used to price public goods. 1+4=5

WTA fl¬œ∑ WTA fl¬œˆ¬±Àı ı…ı˝±ı˛ fl¬Àı˛ ·Ì^Àı…ı˛ ±˜ øÚÒ«±ı˛Ì fl¬ı˛± ˚±˚˛∑

(f) Why is Sustainable Development and Environmental Protection the need of the day?

ıÓ«¬˜±ÀÚ Sustainable Development › Environmental Protection Œfl¬Ú √õ∂À˚˛±ÊÚœ˚˛∑

3. Answer any one of the following questions: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is WTP? Explain how WTP is linked to use-value and non-use value of a good.
2+8=10

WTP fl¬±Àfl¬ ıÀ˘∑ ı…ı˝±øı˛fl¬ ”̃̆ … › ’ı…ı˝±øı˛fl¬ ”̃À˘…ı˛ ¸Àº WTP fl¬œˆ¬±Àı Êøh¬Ó¬∑

(b) (i) Establish an inverse relation between Growth and Environment.

√√õ∂¸±ı˛ › ¬Ûøı˛ÀıÀ˙ı˛ ˜ÀÒ… ŸÌ±Rfl¬ ¸•Ûfl«¬øÈ¬ √õ∂øÓ¬¶ö±ø¬ÛÓ¬ fl¬Àı˛±/

(ii) Briefly explain the causes of Global Warming. 5+5=10

øıù´ Î¬◊¯û±˚˛Ì-¤ı˛ fl¬±ı˛Ì&ø˘ ¸—Àé¬À¬Û ı…±‡…± fl¬Àı˛±/
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